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o = FEEM | B AL | B & % 185 T = TEEM | B | H OFE | ¥ fE
SRV = B 10 ke 1, 080 — | BIPA FOER L 10 ke 3, 780 1, 080
YRR & 200 g 54 32 | WA A 10 ke 2, 700 1, 080
L A7 = B 250 g 108 75 | ST = 10 ke 4, 860 1, 620
Nal=2oVs = 200 g 54 | 32| TAINLE— = B 270 g 378 194
FEO5NAE D ™ B 200 g | 64 43 | WHDH> = R 270 g 378 194
FRE = R 8 ke 3, 024 756 | XINET O e K 250 g 388 270
LwAEL R K 160 g 97 B T=rAAT M 9 kg| 14, 040 10, 800
AN Y REIR & 10 ke 756 324
FEEEICA T A IR 10 ke| 1,296 648
<& BEIRE | 15 ke 864 216
X ¢ XY = & | 10 ke 972 540
L&A RO 10 ke 2, 700 1,620
TwHY = I 5 ke 2,484 1,728
/ch | P S 5 ke 2, 268 —

I AE K 4 ke 1, 296 —
P & 150 g 102 —
Lo IR 10 ke 1, 620 1,512
TmERE A& 20 kg 3, 564 3, 132
A LW w5 100 g 172 97
LU £ ¥ 100 g 59 48
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CEBRRTREE NS E# 28 18H @M KA E®HRBEKE 52 t
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i = FEEM | B 7| & E % fE | & B FEEM | B | & E Z B
¥ AR 7T A 1 kg 1,836 216 | #E¥4 TAUD 1 ke 2, 160 1, 080
WE < AHHE p UACS 1 ke 1,620 918 | WS SNz — 1 ke 1,080 432
7 E B 1ke 1,296 172 ) #5= = 1ke 1, 836 1,296
WA F 2 1ke 1, 080 194 || A FOEk (L 1ke | 1,512 | 626
AU = B 1 ke 356 270 | FU A £ E 1ke 4, 320 1,188
CANVAAD 5 1R 1 kg 864 680 || BTV~ dbiEE 18 172 54
ENF EF 1 ke 1, 620 432
EXA B ® 1 ke 1, 404 540
JEH = AR 1ke 2, 160 1, 296
INE (= 1 ke 972 648
), R A 1ke 1,728 583
77 % B B 1ke 2, 808 583
=) BIRE 1ke |- 1,782 972
BT S 5 1 ke 1, 836 594




